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202 od4dl 1,458 1,458 0
01 = LH o4 1l 1,458 1,458 0
Oostzd &g AgdE N=&EH 1,458
Gt & M EH = A 1,470 2,202 AT32
201 Let24E] 500 500 0
01 At 22l 500 500 0
Ootd MEH = At EHIF
50,000& = 2& = 54 500
202 oddl 690 1,198 A 508
01 = LH o4 1l 690 1,198 A 508
Oot& M EH = At 690
301 g2 d= 280 504 A 224
09 SAAHIEA S 280 504 A 224
OctHMEHZLIEHE ZAL S48l
7,000& * 8% = 53| 280
HOI= X2l 10,867,154 7,977,802 2,889,352
= 3,429,900
< 547,100
Al 6,890,154
MEHIS = 22l 1,389,128 1,333,056 56,072
= 46,900
< 2,100
Al 1,340,128
g0z 2s 10,987 13,207 A2,220
101 @124l 3,987 6,207 A2,220
04 D12t Z22HEE = 3,987 6,207 A2,220
Ootd & 24 &3 Z | 3,987
cJIE2=s 41,800& = 5H = 15 3,135
oxEAL 41,800& * 5% * 3Y 627
o 2HAlH| 3,000& = 5%  15¢« 225
201 L4l 1,000 1,000 0
01 At 22l 1,000 1,000 0
O=ElaEZ2s 4234 ¢ 1,000
203 YR =&t 6,000 6,000 0
03 Al =AY 2= 6,000 6,000 0
OsYZBYHEN 6,000
FAFH ®X2c 244,294 258,132 A 13,838
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101 @121l 8,506 9,932 AN 1,426
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QHIIZ +=HEI HA 22X B 8,506
ocllza 41,8003 * 32 = 5 6,688
oFxsY 41,8008 = 32 x 1« 1,338
o 2HAH| 3,000& * 32¥ » 5 480
201 Bt A | 234,168 246,580 N12,412
01 At 22l Yl 4,000 4,000 0
OFAEF 2 8,000& * 5& * 1004 4,000
02 33294l 230, 168 242,580 N12,412
O332=2 % HA 4,048
CHAXY HANLLLS
2,000& = 1100 *» 23] 1,144
oXHAXE GPS HHE Y SAE
22,000& ~ 1104 = 12& 2,904
OFAX SRl (1) 220,120
cHAXEYE REFLY 94,000¢ =* 1,780& 167,320
oHAXY S
400,000& = 11CH = 12& 52,800
OAlIE&EH A2l 6,000
oZ0Ig& HIl4 400,000 * 504 A 2,000
ocHAE &2 =2l 100,000& * 10CH 1,000
oAEE $2l L M 1,000,000& * 3CH 3,000
202 04| 1,620 1,620 0
01 2LHOHI 1,620 1,620 0
OFAME S22 R=X 1,620
HOI2 £J1 2 AR KT B 2,478 2,478 0
202 O B 2,478 2,478 0
01 2L Y] 2,478 2,478 0
QHIIZE §J] £ AMEE NEEZ RFA 2,478
SE0ISA 22 9,100 9,500 AN 400
201 et A | 2,500 2,500 0
03 HAtS H b 2,500 2,500 0
OstZ0Istd HEg LA 2,500
o J|IE I 200,000& * 59 1,000
cJ|lEg& 300,000& * 54 1,500
301 dEtE A= 4,600 5,000 AN 400
09 HAIAHI EA=S 4,600 5,000 AN 400
Oz30Is& dM=sUal 4,000
OB L=2AF 3o &A 4]
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- 168 -




2N
X ZH -
L= B

el

SN P SA(EN) - MBAY - BES 0] &k o4 il HlDE2
405 TtobFH S| 2,000 2,000 0
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16,200,000& * 10/100 1,620
202 (44l 1,928 1,928 0
01 = LH o4 1l 1,928 1,928 0
OSASFHIIS 2 Y25 1,928
206 M= Hl 4,000 6,400 A 2,400
01 M= 4l 4,000 6,400 A 2,400
OSAESRHIIZE dHMHE EFH 7
4,000& * 1,0000H 4,000

MAgD M 29 123,330 124,170 A 840
201 Let24dH] 4,400 4,400 0
01 At 22/l 4,400 4,400 0

OsSgHM=E 285 1008 * 6,00004 * 23 1,200
o131 88 ¥ SASMYIl £01J| E28E
100& = 6,00000 = 23l 1,200
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206 M= 8l 95,290 96,370 A 1,080
01 X2 bl 95,290 96,370 A 1,080
oMY SHHSE MAH 95,290
oAAE 85,510
-104 463 = 60,0000H 2,760
=204 67& * 400,0000H 26,800
=504 131& = 250,0000H 32,750
-1004 2323 * 100,0000H 23,200
ocllge 1,800
- 104 463 * 10,0000H 460
- 204 67& * 20,0000H 1,340
o538 4,940
=504 131& * 20,0000H 2,620
-1004 2323 = 10,0000H 2,320
oSAZSRHIIE +HE(LRES) 3,040
-34 24 * 40,0000H 960
=54 243 = 20,0000H 480
-204 40& * 15,000& 600
-604 403 * 15,0000H 600
-1204 40& * 10,0000H 400
307 QI2t01 & 23,640 23,400 240
05 A2t E = 23,640 23,400 240
OFTHNMEE =2 ===
525,322,000 * 4.5/100 23,640
HOI2 +&S8 +42 HISEH 722,792 753,634 £ 30,842
201 et A | 420 420 0
01 AFR2 2t 2l Yl 420 420 0
OUHSHA X AHIE BN 9
0,000& * 6 * 13 420
307 Q12t0| ™ 722,372 753,214 AN 30,842
05 A2t E =2 722,372 753,214 N 30,842
OMEHII=2 =& - 28 =2 HISEHA
68,200& * 13.58 * 365 336,056
OSAMNERHIIEZE =& - 2 =22 HIELH
100,800& * 10.5& * 3652 386,316
S X HIIZ2 Hel 6,000 10, 108 A4,108
401 Al HIL 201 6,000 10, 108 AN4,108
01 A& HI 6,000 10,000 A 4,000
O &XHIIS2 Mal(d 6,000
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LAY &3 127,400 27,400 100,000
206 M= Hl 27,400 27,400 0
01 M= 4l 27,400 27,400 0
OHET &XEI ¢ 330,000 * 30H 9,900
OFEHEsE =g ¢ 500,000& = 104 5,000
O3A2HIIE =HEDI 50,000& * 504 2,500
ONMEES E2=AHEI 200,000& = 504 10,000
405 XHoHF S HI 100,000 0 100,000
01 AR ESFH S 100,000 0 100,000
OFAXtE FL (LX)
100,000,000& * 10K 100,000
e mos 2el 4,680 4,800 A 120
201 Let24d] 4,680 4,800 A 120
01 At 2teltl 600 600 0
OWEHII=E POA X H&A 3008 * 2,000& 600
02 =224l 4,080 4,200 A 120
OPDA St 2= 150,000& * 12& 1,800
OUEHIIE BalALY S 2L
19,000,000& * 12/100 2,280
Sdi0IE HMelX&d 86,400 70,400 16,000
= 43,200
Al 43,200
403 MtXISHE X201 E 86,400 70,400 16,000
=2 43,200
Al 43,200
02 S| 2SO CHSHCHE AL Bl 86,400 70,400 16,000
O£dIOIEMel X3 A 86,400
2 43,200
Al 43,200
SZ HHE SSdotE &FAY 10,000 0 10,000
2 3,000
< 2,100
Al 4,900
401 AIEHIZL 20HEI 10,000 0 10,000
= 3,000
= 2,100
Al 4,900
01 A& HI 10,000 0 10,000
OHblY 2s&ota &X 10,000
= 3,000
< 2,100
Al 4,900
HIIE2 HM2lAld 22l 9,478,026 6,644,746 2,833,280
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04 JIZtHI22NSE S 60,126 61,216 A 1,090
OMEE HERY 22X 4 (2 HAE
Ab) 7,553
ocllz2 41,800& * 29 x 61 5,100
oFF4E 41,800 * 2 = 13 1,087
o 2+HAH| 3,000 * 29 * 61 366
o HAEFIHYI 400,000& * 29 * 13 800
o II| 24| 100,000 * 29 x 13 200
OMEg 488 22l B 52,573
PR = 41,800 * 8% x 115Y 38,456
oFsY 41,800& * 8Y x 22¢ 7,357
o 2HAH| 3,000& » 8% * 115L 2,760
o d&EF Y| 400,000 * 8YH * 13| 3,200
o II| 2 H| 100,000& * 8% * 13 800
201 et A | 2,000 2,000 0
02 3524t 2,000 2,000 0]
ongg €& &4l g2
1,000,000& * 2& 2,000
206 M = Hl 5,700 5,700 0
01 &2 bl 5,700 5,700 0
OMEEZ XeAlE EXxNEs 2 5,700
oAzl F¢ 1,500,000& * 1€ x 33 4,500
ocEW(0ILY) ¢ 6,000& * 2000H 1,200
& 22| 349,374 386,712 N 37,338
101 21 214| 25,338 23,696 1,642
04 JIZtHI22XNSE S 25,338 23,696 1,642
O E SZLZAH B 25,338
ocllza 41,800 * 29 = 230 19,228
oFELY 41,8008 » 2 x 47Y 3,930
o 2HAIH| 3,000& » 2% * 230¢ 1,380
o HE S IHH| 400,000 * 24 % 13 800
201 2yt 2 Y| 233,740 222,840 10,900
01 At 22l ] 31,330 20,430 10,900
Ogbt=2H| 13,880
oHIIZ2 HEFZSHM HZ 1108 * 20,0000H 2,200
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300,000& = 163l 4,800
cHE & KXot =2 AME 6,880
- SIMEHE 430,000& = 43| 1,720
- NSHoHE & 430,000& = 123l 5,160
o1l =l 1,200
oXgs 100,000& * 6% * 23| 1,200
ogxtz 1,750
cxREUUHRAMER 350,000& * 5& X 1,750
ORAMHEH =SEM 28 I 2= 3,600
Oogaz=esg 3,000
OMEAIE At=2te] EI1E A 7,900
02 323l 202,410 202,410
O3 & HA 68,940
oclMII= 55,200
-ANSHOHE & 600,000& = 12& 7,200
-0 E A 4,000,000& = 12& 48,000
ctARS 40,000& = 12& 480
ocAEEFAE 30,000& = 12& = 104 360
oMot ERS 900,000& = 12& 10,800
cEIAMERES 2,100
-Xtgk 210,000& * 500 = 23] 2,100
Od =zl 28,350
oMRLZ HEtg 22
1,400& = 2CH = 304 = 150 12,600
oZgey HER P2
1,400& = 1CH = 750 = 150 15,750
OAN & ZEH R Xl 23,640
=X, JIALH wX2el
100,000& * 20& *» 6& 12,000
oA =KXl 3,000,000& * 14l 3,000
cEEHNIAANE HREELA
20& * 36,000, = 123 8,640
O Xl 81,480
oS FHl 1,800& = 4004 = 7CH = 12& 60,480
oKXl 2eltl 250,000 = 7CH = 12& 21,000
202 oddl 4,536 4,536
01 = LH 4 1l 4,536 4,536
ORAMEEHE dR2Fd
81,000& = 2% * 22 * 143 4,536
206 M= Hl 7,840 7,840
01 =8l 7,840 7,840
O&FE= XelAd 457 6,640
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o EABHE 1,000& = 1,000kg 1,000
o Jtd AL 1,000& = 1,000kg 1,000
o2& 15,0003 * 150kg 2,250
ocgtAkF 2,000& = 1,000kg 2,000
cHEgd =8 LAAE 3,000 = 1300H 390
OMEs gstzs 7< 6,000& » 200%& 1,200
307 gl2tol & 7,920 9,600 A 1,680
05 BIZHRI & 3 7,920 9,600 A 1,680
O&Jletd 2eld3d 660,000& = 12& 7,920
401 Al HIZ 201 8] 70,000 16,000 54,000
01 A& HI 70,000 16,000 54,000
OHPVIZXcIAlE =d8its &3 &Yl
10,000,000& * 14l 10,000
OMWEE HAZHS U FE4 HHS &
Xl 60,000,000 * 14l 60,000
SASJRHIIS X 3s 38,496 35,706 2,790
201 Ler24] 13,100 15,900 A 2,800
01 At 2t 2l 2,900 3,600 A700
OSASRHIIS MASH S2AA +48
300,000& =« 43| 1,200
OSASRHIIES MelAME HIFA =2 1,700
02 232gHl 10,200 12,300 A 2,100
OSAESFRHIIZE MelAlE A=l
1,400& = 104 = 204 = 150€ 4,200
OSAMERHIIE MelAld ZH sX2el
50,000& = 103 = 12& 6,000
202 44l 486 486 0
01 SLHOYI 486 486 0
OsAEFHIIE A& =&
81,000& = 1¥ » 2& * 33 486
206 = Hl 24,910 19,320 5,590
01 MHZ 4l 24,910 19,320 5,590
OsAESFHIIZE MeAME Ha+Y 24,910
S 300,000& * 12 3,600
== 42,0003 = 430m’ 18,060
<= 0Ot 6,500& = 5000H 3,250
Ml HEAIE EXALS 6,769,992 2,784,992 3,985,000
= 3,383,000
= 545,000
Al 2,841,992
201 Let24E] 700 700 0
01 At 2t 2l 700 700 0
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70,000& = 5H x 23] 700
202 o4 | 2,592 2,592 0
01 2Ll 2,592 2,592 0
OMAHDIl HEAIE EXAY 24X
81,000 * 2% * 22 « 83| 2,592
301 et A= 700 700 0
09 HAIAHI E A2 700 700 0
OXN<Yzx0 & SEoH 203 SAH|
7,0008 * 50 = 23] 700
403 XX SHS K20 & 6,766,000 2,736,000 4,030,000
2 3,383,000
= 545,000
Al 2,838,000
02 BII2S0CHSCHE AFS HI 6,766,000 2,736,000 4,030,000
OMYIIHEAIE EXI(EE)AY 6,766,000
= 3,383,000
o= 545,000
Al 2,838,000
HIIE A22AE 29 2,252,338 2,568,420 A 316,082
101 2121 4| 25,338 23,820 1,518
04 JIZtHI22XNSES 25,338 23,820 1,518
OA2ZAE BHHUANE B 25,338
ollgag 41,800 * 29 = 230< 19,228
oFsH 41,8003 * 29 = 47< 3,930
o 2HAIH| 3,000& » 2 * 230¢ 1,380
o HAE S IHH| 400,000€ * 2% * 13| 800
307 QI2t0| ™ 2,227,000 2,544,600 A 317,600
05 QIZtREZ 2,227,000 2,544,600 A 317,600
OA2ZAE A2 185,583,333 » 12& 2,227,000
HHSHAY (FFESH) 3,507,251 3,461,599 45,652
ol 2HH| 3,475,099 3,426,447 48,652
oled 2| 3,475,099 3,426,447 48,652
101 e1214| 3,475,099 3,426,447 48,652
03 2IHAZ2ZXNHE = 3,475,099 3,426,447 48,652
O&td0|std o2 2,443,350
ollEa 788,761
-6~10¥8 0| &t 1,185,440€ = 11 * 12&€ 156,479
-11~15& 0lat 1,264,100 * 2294 » 12€ 333,723
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- 16~20¥ Ol of 964,000 *5H * 43| 19,282
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-d324g 88,468
6~10= 0| at 615,698& * 11¥ x 23] 13,546
11~15¥ 0lal 917,050& x 22Y * 23| 40,351
- 16~20¥ Ol ot 964,090 * 5% * 23| 9,641

- 21~25 0|5
1,009,330& * 5% * 23] 10,094

- 26~30E 015
1,056,070& = 6Y x 23] 12,673
- 308 =1 1,081,260& = 18 x 23] 2,163
-Hl = Sl 235,578
- 6~10 0l at 877,720& * 11¥ x 53] 48,275
- 11~15Y¥ Olst 917,050 * 22 * 53] 100,876
- 16~20¥ Ol ot 964,090 * 54 * 53] 24,103

- 21~25¥ Ol ot
1,009,330& * 5¥ x 53] 25,234

- 26~304 0|5
1,056,070& = 6Y x 53] 31,683
30 =1t 1,081,260& = 1H * 53] 5,407
oSxdfLY 90,000& = 504 * 12& 54,000
oMAXHALE 70,0008 = 509¥ * 12& 42,000
cItExY 43,200
=N 40,000& = 509 = 12& 24,000
-JIEIIE 20,000& = 50 x 1.6 » 128 19,200
o XtHEHI = 16,992
-NESHW 472,000 * 50¥ x 0.18 * 43| 16,992
oS EMH| 359,519
-5 oH 3 AlH| 160,000& = 50 x 12& 96,000
=JbHE | 110,000& = 504 » 12& 66,000
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-HE S OtH]| 113,519
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oxM2RY 446,840
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- 16~20& Ol ot
12,7983 » 1.5 » 5% x 208Al 2t 19,965
- 21~256F Ol ot
13,3982 » 1.5 » 5% * 208Al 2t 20,901
- 26~30&F Ol ot
14,0198 » 1.5 » 6% * 208Al 2t 26,244
- 304 =t
14,3532 * 1.5 = 1H » 208Al 2t 4,479
-0t 224 11,559
- 6~104 Ol Gt
3,884& » 1.5 » 2F = 63 * 30Al2} 2,098
- 11~154 Ol at
4,0563 * 1.5 » 2 « 63 » 30AI2 2,191
- 16~20& Ol Gt
4,2663 * 1.5 » 2 « 63 » 30AI2t 2,304
- 21~254 0l Gt
4,466 * 1.5 » 2 « 63 » 30AI2t 2,412
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-11~154 0l at
64,9203 = 1.5 » 22%H * 21 44,990
-16~204 0l Gt
68,2503 * 1.5 * 5% » 23« 11,774
-21~254 0| at
71,4503 * 1.5 * 5% » 25¢ 13,397
-26~304= 0l 5t
74,7603 * 1.5 » 6% * 256 16,821
=308 =1t 76,5503 * 1.5 « 1% » 25¢ 2,871
o MM LHI 2,374,011,000& = 3/100 71,221
O=tzdilstad MR =&
00,000& = 2% » 123 2,400
O&&0lst& 2tAalh]
1,800 » 50 » 25¢ » 128 27,000
Ogdllsta A3XN=3 111,359
SPNE=PNE == 2,474,632,000& * 4.5/100 111,359
Ogdilsta 1282
2,474,632,000& * 1.4/100 34,645
Ogdllstd d4HEE=
2,474,632,000& * 3.2/100 79,189
Ogdllsta AZE2E=
2,474,632,000& * 2.9/100 71,765
OetZiIstd LI QAEEZ
,000& » 50 * 128 1,800
Oogdilstd A3 130,000,000& * 5% 650,000
OgZdolsta 1=l 25,000
oXMNASR 50,000& = 50H = 53 12,500
o oHH 3t 50,000& = 50¥ =« 23| 5,000
ocZA0otAZ 30,000& = 509 « 53] 7,500
ONMEE dEX8Y 2210 E 28,591
=Jl=3 41,800& = 2% = 189¢ 15,801
SRS = 7,900,500& = 29 « 33| /9& 5,267
cHXURESFINE 41,8003 * 2% » 15« 1,254
oFFd 41,8003 = 2% » 39¢ 3,261
oz &l 80,000& * 28 » 9H 1,440
o dEF I 400,000 * 28 « 13l 800
o X Il 25,583,000 * 3.0/100 768
Jl234l 32,152 35,152 A 3,000
JI23l 32,152 35,152 A 3,000
201 £B-2dH| 25,692 28,752 A 3,060
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01 AP 22| d| 24,192 27,912 AN3,720
OFME8Y JI=22ZH| 4,800
ostH )| & 250,000& » 12€ 3,000
oBtAAA 150,000& = 12& 1,800
OMEBEE 1AM S) 3,600
o & AHIE 200,000& = 12& 2,400
oBtAAA 100,000& * 12& 1,200
OQMMABAIRI|D] AR2E 322 4,200
o &tAI|E 300,000& = 50 = 23| 3,000
oEAANA 300,000& * 2CH * 23] 1,200
OF=1=1:] 11,592
ostH )| & 7,000& * 18Y * 6L * 128 9,072
oBtAAA 7,0008 * 5 x 6 x 12& 2,520
02 E232%H| 1,500 840 660
oRER2 1,500
202 04| 2,080 2,080 0
01 2L Hl 2,080 2,080 0
OHlazZ22 2o ] 2,080
203 &R =& H| 4,380 4,320 60
04 EANSIELR2F=XH| 4,380 4,320 60
ORI L8| 365,000& » 12€ 4,380
HEeEsES(HE5 ] 350,000 458,628 A 108,628
WEHN K= 350,000 458,628 A 108,628
LHEHHX = 350,000 458,628 A 108,628
702 1282 350,000 458,628 A 108,628
MoIsEE2 350,000 458,628 A 108,628
QHIISAAANE FHISXYE FOXAI2 50,000
OHJIZMHE AL F=HISXE FUXII2 300,000
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